5. ZERBEDIRS

(1) BEAAESEE AR
2ASESE FhE 31 B2 S 3 o4 S5
by (FE) (H30) (R1) (R2) (R3) (R4)
= ZRIEEW 116 105 113 112 101
E RN BEREEE 40 31 33 37 30
= &R BAHSE 76 74 80 75 71
- EREERE 12 9 7 2 3
;g ,E]!\ FEHERE 6 7 4 9 5
=] E 2 RAERE 0 3 6 4 0
n || % R EEE 51 39 43 57 37
1& (8 EAEHE) (34 (38) (41 (42) (25)
Z DHERERE 2 1 0 0 0
N EE 69 59 60 72 45
= %% uwNEal b EES 6 9 13 7 6
BE  ZOMEREES 30 36 32 27 49
7 N 36 45 45 34 55
z O fiy 9 1 8 6 1
(2) RAESEEF
. IR FhE 31 S0 2 S 3 D4 S5
® R &) (H30) ®R1) (R2) (R3) (R4)
= ZREEH 84 84 83 76 88
¥ A BERHEE 50 44 53 43 51
s R BAHSE 34 40 30 33 37
& % AR R SR 42 45 48 46 45
] B A%k 7 0 2 1 1
g R & & 7 6 2 5 6
8 E R 10 15 12 12 18
il FLITfERT 10 7 14 4 9
7 R & &b 0 1 2 3 3
#® F 5 5 3 3 5
z D 3 5 0 2 1




